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to execute the instruction Add R4, R5, R6 i in.

theabove drawn datapath. 5 COMPUTER SYSTEM ARCHITECTURE
) 8. Write short'ri(_)tes on~anz twoq,he following : 5 x 2 ' “Full Marks : 70

(i) Carry save addition

Answer any six questions including
Q. No. 1 which is compulsory

I (i) CD-ROM ‘ ' A ~ Time:3hours
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The figures in the right-hand margin indicate marks

1. Answer the following questions : D 4 10

r“*(a) Size of PC in a microprocessor in M
‘What will be_size of the addressable

‘memo ace‘? T ldna
| mory sp AR YR WL,M 7
(b) Whatis a progam status word ? P%%Mﬁ i g

(c) Whatis the advantage of autoindexing ?
'-_—\__

(d) Differentiate between multiprocessor and
multicom uter. ' wr\t'ﬂm br\lw
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Distinguish between gpatlal locality - and
temporal locality. (mymwjz)

How QS“&A_\_M does differ from that of

o o

What is the dlfference between an arithmetic

shift and algg;gal.shlﬁ_?- :

e

Give a reason for the usioj&l,gld bit in
floating-point arlthmetlc

List two major functions of an I/0 module.
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Explaln the W

What are the characteristics
instruction set architecture ?
J

List the relative WQ{
different addressmg modes.
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v 4. (a)

Write an ass mbly'/léf;lguage program to add

two 8-bit decimal number.

Explain the set-associative cache mapping

technique. @
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6. (a)
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A two-way set associative cache has blocks ‘

of 16 bytes and a total size of 8 KB. The
‘64MB main memory is byte addressable.

Show the 'format oxf main memory.
ek

Deﬁne v1rtual memory Explaln ‘how avirtual
//————""“-—’_
_address is translated into @ physical addl‘éss

Represent the number-0-5' in IEEE 64-b1t

floating-point format.
i e
5 A MKM
Explam how an inte t en I/O is
different from programmgd controlled 1/0?
Cartns\ 4 CPV
Explain lookahead carry addition w1th a

suitable example -

Draw a three-bus organization of data path
B

inside a processor.
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